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Test Paper 1

Part I Listening Comprehension (20 minutes)
Section A | .

Directions: In this section, you will hear 10 short conversations, At the end of each conversation,
a question will be asked about what was said. The conversation and the question will be spoke;l
only once. After each conversation, there will be a pause. During the pause, you must read the
four suggested answers marked A), B), C), and D) and decide which is the best answer. Then
mark the corresponding letter on the Answer Sheet with a single line through the centre.
Example: You will hear:
You will read: A) At the office. B) In the waiting room,
‘ C) At the airport. D) In a restaurant. :
From the conversation we know that the two were talking about some work they have to
finish in the evening. This is most likely to have taken place at the office. Therefore, A) ““At
the office” is the best answer. You should choose answer A on the Answer Sheet and mark it with
a single line through the centre,

1. A) At a supermarket. B) At a store.
C) In a bank. D) In a park,
2. A) Gast. B) Gasster.
C) Gasson. : D) Gaston.
8. A) Four days ago. - B) Four weeks ago.
C) Two weeks ago. D) Two months ago.
4. A) He decorated himself. B) The worker did the decoration.
. .(‘l) It doesn’t need decorating, D) It isn’t beautifully decorat'ed."%?v‘\
5. A) The party was cancelled. B) She disliked the party.
C) The party was held in the hall. D) They had no time to go there.
6. A) 4:30. B) 5:30. ' ' '
C) 3:30. D) 6:00.
9. A) Seven. B) Five.
C) Three. D) One.
8. A) In her office, "‘B) In the club.
C) In the hospital. D) At home.
9. A) A play. : B) Physical training.



C) A medical check-up. D) Physics.
10. A) The man will help her. B) The man will fail.
C) The man doesn’t have time to help her. D) The man is very important,

Section B

Directions: In this section, you will hear 3 short passages. At the end of cach passage. you will
bear some questions. Both the passage and the questions will be speken only once. After you
bear a question, you must choose the best answer from the four choices marked A), B), C) and
D). Then mark the corresponding letter on the Answer Shect with a single line through the centre.

Questions 11 to 13 are based on the passage you have just heard,

11. A) He asked for a bed-side telephone.
B) He asked for a bed-side meal.
C) He asked a nurse about his operation.
D) He asked a relative of his about his operation.
12. A) He rang up his wife, B) He rang up Nurse Bilbert.
C) He rang up Doctor Millington. D) He rang up his relative,
13. A) Mr Gilbert would be operated on again.
B) Mr Gilbert’s operation had been successful.
C) Mr Gilbert would be discharged the day after tomorrow.
D) Mr Gilbert should have a relative at his bedside.

Questions 14 to 16 are based on the passage you have just heard.

14. A) About 300 years ago. B) About 250 years ago.
C) About 350 years ago. D) About 400 years ago.
15. A) A sharp trader. B) A slow trader.
C) A silly trader. D) A lovable trader.
16. A) During the American Civil War, B) During the First World War. _
_C)‘H-gDuring the Second World War. D) During the First and Second World
War.

Questions 17 to 20 are based on the passage you have just heard, '

17. A) Mildred never forgot to prepare dinner.
B) Mildred seldom forgot to prepare dinner.
C) Mildred forgot to prepare dinner cnce only,
D) Mildred often forgot to prepare dinner.
18. A) 30 minutes. B) 20 minutes.
C) 10 minutes, D) 5 minutes.
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19. A) Because he had mailed the plane tickets,
B) Because he had lost, the plane tickets. .
C)' .Because he forgot to take the plane tickets e 0T
D) Because he couldn’t find the plane tickets.

20. A) Because they wanted to know what would happen on a plane..
B) Because they were afraid that; the plane would crash. '
C) Because they wanted to give money to their mother, | _ e
D) Bccause they still had some money left.

Part IT Reading Comprehension | (35 minutes)

yirections: There are 4 reading passages in this part., Each passage is followed by some gues-
tions. For each question there are four suggested answers marked A), B), C) and D). You should
choose the ONE best answer and mark the corresponding letter on the Answer Sheet with a single
line through the centre.

Questions 21 to 25 are based on the following passage:

The cause of the decline of North Africa is popularly attributed to climatic changes, the theory
being that the area became hotter and drier and the people were forced to abandon (i %) a twﬁgﬁﬁ
ing civilization. However, some geologists, after carefully weighing the mﬁ&éﬁ ave challenged
the conclusion that the climate has changed in gny important way since Roman times. Although
climatological factors may also have co a‘;"b ’{e . it was man who d"zﬁ'? “' t]ll-e balance of nature
zesponsible for mah}tiiping soil fertility and moisture,

. Why is it that undcr cfﬁai.p‘?iﬁgumstaniersht’h‘g plant cover is unable to repxoduce’ :tself, thus
causing serious erosion ? To answer this question, Jet us take an extreme example, the des tructio -
of tropical rain forests. In general, the equatorial soil is poor: forests can exist in these regions AR
enly because they are part of a balanced cycle. = All that the forest produces is fétui';led to the forest.

The cr »3& mitter that falls from the trees constitutes the humus (5 %) that thé "fé'rest'requires.

When man cuts down all the trees to make room for crops, the soil is laid bare and its temperature

mcreases. An increase ip soil temperature speeds up the rate of decgn!nl b&siti organic matter.

Organic nitrogen is cm into soluble ammonia and niMwhich the rains quickly wash away.
It has becn calculated that a rise in jemperature from 77° to 78.8° may increase the loss of nitrogen
by fifteen to twenty pounds per acre per year. With the fertility of the soil destroyed, an irrever-

-sible change from forest to desert occurs.

21. h was once thought that changes of climate caused the decline of North Africa, = This pas-

sage says that some geologists L a
A) confirmed this conclusion . B)  approved this conclusion
\_©) dispuied this conclusion D) supported this conclusion

22. According to geologists, the decline of North Africa was mainly caused by .. .

. 3 L] 'I



from a life insurance policy, and a good mﬁv ical bram
to € without resentment (4248) the su

A) climatic changes -+ B) climatological factors
C) thriving civilization D) man’s own fault

23. What is the function man performs in the “balanced cycle” mentioned in the second para- ‘
graph ?
A) He provides fertilizers. ’ B) He grows crops.
C) He cuts down the trees. - /D) He has no. part in it.

24. The purpose of the calculation- involving an increase in temperature from 77° to 78.8° was

A) to study the decomposition of nitrogen
B) to examine the conditions under which ammonia and nitrogen are produced
\/C) to demonstrate the effect of heat on the soil |
D) to show the way in which rain causes erosion
25. In the last sentence, the change is called “irreversible” because, under the conditiens mentioned,

) plants cannot reproduce effectively

) man can do nothing to restore the fertility
C) desert conditions are created
D) plants have difficulty in growing

Lt A E

Questions 26 to 30 are based on the following passage:
FRIE AT PE A
Smith conSIdered himself to have been very fortunate in life. From his father he had inher-

ited, at the age of seventeen, an easy-going disposition (ﬁﬁ), five h d pounds in cash
‘g cy had enabled him
ision of a re uct d’d ill-tempered guardian
(f£ %2 N); the sgcond had enabled him to use the scholarship he had won to a university;the third
resulted i %;umng a science doctorate in his middle twenties.’ By the time he was, thlrty he
was 1&@}?& a large engineering concern and runninz one of the expenmenta) dc.partments
a little surprisgg ﬁt}i‘?t he{t Ehzould be financially so well rewarded for pursuing his personal inter-
ests. Ry s Flie
At the age of thirty-two he had made his first trip abroad. It had been a success. To their
delight, his employers discovered that, in addition to techm(:al ability which earned the respect
of all those whom he dealt with, he had the faculty (7 ) of makmg himself popular, which was
rare in a man of his particular qualifications. And so, in the years that followed, occasional trips
abroad had become part of his working life. The excitement he felt on arriving in strange cities
never dulled. He enjoyed meeting men of other nationalities and learning some knowledge of
their languages, especially the former. It did not take him long to appreciate that all men were
individuals and that none could truly be called “typical” of his nation:
26. Smith’s father was 23
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1 A) very wealthy . . | .. ~weos - o B) oan jll-tempered person, -

“C) mathematically gifted. . - .. . | D) a reluctant guardian
27. Smith’s attitude to his guardian could be described as ex.

A) reluctant ] ; . B) grateful

C) resentful : . "f)) tolerant

28. From this passage we can know that Smith. was

A) the employer of a large engineering concern
B) a well-qualified manager of a company
YC) the leader of an experimental department
D) a financially rich businessman
29. Which did Smith enjoy most ? :
A) Learning some knowledge of foreign languages.
“B) Meeting men of other mationalities.
C) Finding men typical of their nations.
D) Appreciating that all men were. individuals.
30. It is suggested in the passage that men of Smith’s qualifications .
A) earned respect casily B).. were always successful in their careers
+C)s-.travelled abroad quite often. . .-, ... ,~D) were not usually popular socially g

Questions 31 to 35 are based on the following passage:

When -Christian Bernard, a South 'African doctor, performed the first human heart trans-
plant in 1967, the result was a worldwide moral debate on the ethics (;8##) of transplanting.
organs. Hearts were not the first human organs to be transplanted but, in this case, if a donor
gave his or her heart, he or she would obviously and necessarily die. . Undoubtedly, another
reason why the first heart transplant was-so controversial (8] ;24+3f i1)was the fact that we asso-
ciate so many personality traits (4¢4F) with the heart. Questions. were asked of the type: “If a
person had a different heart, would he still be the same person ?”, or “If doctors needed a dying
person’s heart, would they tend to declare him dead prematurely 7, and sé on. ; &

i - 8ince that-time,:sprgical technigues and techniques to help prevent the patient’s immunological
systems: from rejecting mew organs have developed very quickly. Today, not only hearts and
kidneys, but also such extremely delicate organs as lungs and livers, are transplanted. These
developments have led to a far higher proportion. of successful operations and this, in turn, has
led to greater demand for transplants. - At the same time, many of the original moral questions
surrounding heart transplants have been .almost forgotten.

However, as'a result of the heavy demand for organs, a new moral dilemma has emerged.
For cxample, in the United States there are many people who would survive if lungs were available
for transplanting. In fact, about 80% of them die before a suitable donor is found. In these
circumstances whe would decide if a donor were found whose lungs were equally suitable for twg
potential recipients ? Who would decide which patient should get the organ ? Would it be the

LI 1 .



doctor ¢ Or the donor ? Or the family ? If such a dilerama developed it would be very difficulc
to resolve — and it would be a matter of life or dr ath to the patients invoived.
31. The first heart transplant was so controversial because people believed that s 9y
A) the recipient of the first heart transplant obviously died
B) doctors would have to kill the donor for his heart
C) the heart was the most delicate organ :
D) a person’s personality would be changed after a heart transplant
32. The development of medical techniques has resulted in ___ Q. .
A) the increase in the number of donors
B) greater debate over organ transplaants
C) more people seeking organ transplants
D) higher standards for organ transplants
33. The new moral dilemma is caused by @ :
A) too few human argans for too many recipients
B) too low a proportion of successful operations
C) delicate organs being transplanted
"D) ‘high death rate of heart transplants
34. Who should make a decision in the organ transplant if a donor’s organ were equally suitable
for two recipients ?
A) The doctors. B) The donors.
C) The recipients. © D) Not mentioned in the passage.
85. The best title of this passage would be _:‘9_
A) Development of Organ Transplant
B) Heart and Other Organ Transplant
C) Christian Bernard —— Heart Transplant Pioncer
V) A New Doctors’ 'Dilemma

Questions 36 to 40 are based on the following passage:

The United States is a country made up of many different races. Usually they are mixed
together and can’t be told one from another. But many of them still talk about where their an-
cestors came from. It is something they are proud 'of.

The original Americans, of course, were the Indians. The so-called white men who thea:
came were mostly from England. But many came from other countries like Germany and France,

One problem the United States has always had is discrimination. As new groups came to
the United States they found they were discriminated against. First it was the Irish and Ita-
lians. Later it was the blacks. Almost every group has been able to eveatually escape this
discrimination. The only immigrants who have not are the blacks. Surprisingly enough the
worst discrimination today is shown towards the Indiaans.

""" One reason the Tndians are discriminated against is that they have tried so hard to keep theig



identity. Of course they are not the only ones who have done so. The Japanese have their Little
Tokye in Los Angeles and the Chinese a Chinatown in New York. The Dutch settlement in
Pennsylvania also stays separate from other people. Their towns are like something from the
19th century. They have a different reason than the other groups for staying apart. They live
separately for religious reasons rather than keeping together in a racial group.

Although some groups have kept themselves separate and others have been discriminated
against, all groups have helped make the United States a great country. -There is no group that
bas not helped in some way. And there is no group that can say they have dome the mest to
make it a great country.

Many people still come from other countries to help the United States grow. (A good ex-
ample is the American project that let a man walk on the moon. It was a scientist from Germany
who was most responsible for doing that. It is certain that in the future the United States will
still need the help of people from all racial groups to remain a great country.

36. Which of the following statements can best describe the main idea of this passage ?

A) The United States is a country made up of many different races.

B) Discrimination is the most serious problem in the United States.

NQ) All races in the United States have helped make the country a great one.

D) The prosperity of the United States is mainly due to the hard work of the most discri-

minated races. . }

37. In the first paragraph, the word ‘‘told” means __ /3 . s
A) separated B) distinguished
C) revealed ; . D) made known

B8. This passage implies that discrimination is a problem which __A_
A)' many races in the United States have experienced
B) s still very serious in the United States
€) has already been solved in the United States » N/
D) is strongly opposed by many different races in the United States
39. The main reason why the Indians are most disqi@nated against is that if 5
A) they have tried hard to keep their religions
B) they bave tried hard to live together to keep their Indian customs
C) they are the cnly ones who have tried to keep their identity
D) they discriminate many other races
40. The Dutch live Separate]y in Pennsylvania __y_
A) to escape discrimination
B) to keep together in a racial group
C) to enjoy themselves in their own towns
D) for religious reasons E



Part [II Vocabulary and Structure T (20 minates)

Directions: There are 30 incomplete sentences in this part. For each sentence there are four
choices marked A), B), C) and D). Choose the ONE answer that best completes the sentence:
Then mark the corresponding letter on the Answer Sheet with a single line through the centre.
41. Scientific' experiment endless patience and carefulness. -

A) calls ofi-* <+ = «Bycalls off ¢ - ' ¢ C) calls up \U/D) calls for
42. He was knocked down by the car when he was crossing the road. Many people nearby

* the accident.

) /
A) watched : B) noticed - .C) glanced \I;) witnessed
43. It is important to locate industries in areas-where a supply of raw materialsis ___
A) preferable B) dependable \_Q) available D) favourable.
44, No _ ~ 'has been made in the talks on the withdrawal of foreign troops from the country.
A) success B) advance - \£) progress ‘D) result
45. He promised that he would not be ~_ with the matter any more.
A) related: ‘B) involved &) concerned - D) attached
46. Fingerprints are an excellent way to people because no two fingerprints are the same.
A) recognize \B) identify C) separate - D) distinguish
47. The boy his father in every way: the same look, the same habits, and the same sensa
of pride.
A) takes over ~*B) takes down * C) takes from ' /D) takes after
48. Radiation may cause-illness that could ¢ our children and grandchildren.
A) pass over B) pass down - \/C) pass on to D) pass through
49. We are lucky. We live in a quiet street but all the necessary shops are close -
\,4() at hand AB) on hand - +C) in hand * - D) to'hand -
50. They had spent-5 days-in the desert without water and could not much longer,
A) last . \,&)zendure ﬂ"& < 7.C) insist D) exist -

51. Somehow she felt that she herself had to some

been the cause of all this trouble, and
suffered accordingly. - - HE 7

\/A) extent “LB)'mannet 1244 v L:C) point=t” ° " D) respect :

52. The boy was quite

i

about everything that he saw there. -

A) anxious \B) curious < C) cautious : g)-canscious o g

53. The question whether the atom can or cannot split up is known - many scientists from

ancient times. \{ Wiy AR A R0) i “
A) to interest it Y ) t@m_‘% X 2 ’

C) to be interested : +D) to have beén interested” - -
54. is firm and unshakable, '
* A) This our stand B) Our this stand

e 8 &



Ao
C) This stand of v= \D) This stand of ours
55. Very wonderful changes in matter take place before.our. eyes every day

*A) we pay little attention B) that we pay little attention
C) which we pay little attention ' \)Zf to which we pay little attention
56. With tears on her face, she watched her injured daughter _. to hospital.
A) sending . B) to be sent \C) sent ‘ D) having sent
§7- a caron a frozen road, the brakes should be applied gently.
¢, A) Drivinig B) When driving
C) If driving ' P) When one is driving
58.. 1t was reported that only one passenger was fortunate to escape .. _in the plane crash.
A) killing B) to be killed \,25 being killed D) having killed
20 certain difficulties can be overcome, further improvement can hardly be made.
A) Except \B’QJ.l,n,l,:gsg C) Because ‘D) If not
60. 1 wonder _ - these new instruments are used for. . A
.. -A) that B) whether \,Z; what D) how L
61. Care must be taken not to wash or iron syn‘t—ietic fibres at
A) a too high temperature B) too a high temperature
\Q/ too high a temperature , . D) a temperature tco high
62. . It. was after he had made a therough investigation he came to know the actual state of
aﬂl'airs. o § o orasanie Al g :
\‘/A/) that ' B) then : C) so that D) therefore
63. that our knocking at the door could.not wake him up::
A) So deeply he slept \MD deeply did he sleep
C) He slept deeply.so . i .+ D) Deeply so he slept
64. When I saw the mess be was in, I _ < T
*A) ceuld not but to Jaugh - ~ B) ccold not help to Jaugh
‘could not belp launghing .. o1 D) could not help-but to lavgh
65.. TV has changed our lives meore than in the past 30 years.
A) anything Viete & anipibm Saried ~\'_B/ anything else ¢
() anything, other et D) any thing else S
66. We didn’t::play 'well in the last fifteen minutes. We . (' the football game; !
A) should win: ol B) «must win
\lg should  have 'won by D) mwust have won
67. There is a crowd of people in front of the bouse over there.' What do you suppese
there 3. e 11 bttty o Betindin (8o bAD sl 3
A) is bappened bagesnpet o B) i happening bosereni (A ¥
\92—;125_1@@:1 4 D) to have:happened w7 PE
68. x'0il supplies, there are huge:rdserves of maturak:gas and coal in China, v'n 1/ Lo
*A)" Except.fori:: boipben | B) iiIn'addition bawntio] (A O

o O '.‘



\C/ Apart from a3 v D) Far from

69. Much our re!ief, the accident caused little damage.

‘A) of ) to Q) in © Y DY for
70. You demand too much of him; he is not really equal” _ the task.

A) on B) 'in C) 'of @46

Part IV Cloze (15 minutes)

Directions: There are 20 blanks in the following passage. For each blank there are four choices
marked A), B), C) and D) beneath the passage. You should choose the ONE answer that best
fits into the passage. Thea mark the corresponding answer on the Answer Sheet with a single
line through the centre. e

Australians are very 71 people and usually mean what they say. When they issue an
invitation to somebcdy t‘Eley are-not just being 72 and if that person accepts the invitation
they are expected to 73 . In some cultures it is not ;;olite tosayno. Thisisnotthe 74 ia

Australia and if a person is invited to do something and is unable to do it a “no” answer
should be given, ' 75 ' the person who has issued the invitation will be greatly 76
‘" Punctuality is also 77 'when an invitation is accepted. If*a person is invited to be at

a particular place 78  a specified time, 79 if thereis a meal 80 , that person is expected

to arrive on time. One of the 81 = for this is that western-type Australian food, such as a

roast dinner, must be 1 82 ' and eaten as soon as it i cooked, and if a person arrives late the
food will be 83 '

Australians often “issue - 84 - invitations. They will give a person their name, address
and telephone number and say, “why don’t you come and sce me © 85 when you are free.” This
is not just a polite 86 1, it is'a genuine invitation and the Australian‘who has issued the invi-
tation will be- ' 87 = and sometimes offended if that person does not 88 them. However,
because Australians live in a mobile society, they are not ' 89 "at home and it is Always best to
telephone them to 90 they will be at home before making a visit.

71. X) direct B) formal C) honest D) strict

T72. A) modest B) prudent . \C) polite D) cautious
73. A) tura in B) turn out \L) turn up D) tura oa
74. A) thing . B)event: C) case D) trath

75. A) however . .. ' B) therefore - C) rather S0 D) otherwisa
76. A) defended \B) offended C) afforded D) affected
77. A) insisted ~B) expected C) requested D) supposed
78. ™) at ‘B) in | C) on D) for -

79. A)only L, . .. QB)even v #rriC)ag i LN D) especially
80. A) followed ' \/B) involved . C) relaied D) conceraed

s 10 »



81. A) causes

82. A) treated
83. A) ruined
84.VA) informal
85. A) some time
86. A) expression
87. A) astonished
88.v‘/A) ‘contact
89. ™) always
90. A) find out

i’art V  Writing

"h) reasons
“B) served
B) damaged
B) unusual
\B) sometime
“B) gesture
B) disappointed
B) conduct
B) often

‘/B) make sure

C) aims

C) offered
\/G) spoiled

C) uncommon
' C) some times
C) behavour
C) fascinated
C) confirm

C) usually

C) inquire

D) purposes
D) prepared
D) decayed
D) abnormal
D) sometimes
D) symbol

D) satisfied
D) contract
D) generally
D) make clear

A(30 minutes)

Directions: For this part, you are aliowed 30 minutes to write a composition about WHAT WE
KNOW ABOUT THE MOON in three paragraphs.
You are given the first sentence of each paragraph and are required to develop its idea in
completing the paragraph. Write abou: 35 words for each paragraph, not including the words
given. Therefore, your part of composition should be about 100 words. Remember to write clearly.
You should write this composition on the Answer Sheet.

What We Know about the Moon

1. When we look at the moon through a telescope, we can see,

2. We know a great many facts about the moon now.

3. The moon still has many sscrets.




Test Paper 2

Part T Listening Comprehension (20 minutes)_

Section A

Directions: In this section, you will hear 10 short conversations. At the end of each conver-
safion, a question will be asked about what was said. The conversation and the question will
be spoken only once. After each question there will be a pause. During thc pause, you must
read the four suggesied answers marked A), B), C) and D), and decide which is the best answer,
Then mark the corresponding letter on the Answer Sheet with a single line through the centre.,
Example: You will hear: ]
You will read:. A) (At the office. B) - In, the waiting room,
C) At the airport. D) In a restaurant, ;
From the conversation we know that the two were talking about some work they have to. ﬁmsh

in the evening. ‘This is most Itkely to have taken place at the office. Therefore, A) “‘At the office™
is the best answer. You should choose answer A on the Answer Sheet and mark it with a single
line through the centre. ' ' -

1. A) It has lasted 32 years. _ .. +B) Tt has lasted 52 years. .
C) It has lasted 42 years. D) It has lasted 22 years.
2. A) $ 18.5. ... B) % 28.5.
C) $ 9%0. D) $ 43.
3. A) Wife and husband. B) Sister and brother.
C) Baby-sitter and baby. D) Sitter and photographer.
4. A) After supper in the evening, B) When the woman is preparing her meal.
C) At 7 in the morning. D) After supper is ready.
5. A) Talking with someone. B) Studylng
9) Making"a %a?kct - D) Having some sunshine. ¥
6. A) He is worrymg about hlS lnjured leg. B) He will walk to work as usil'al.T' *¢ ¢
C) He doesn’t  want to. walk to, work today. D) He wants his leg injured:
7. A) He hasn’t dec:ded yet. B) In eight days.
C) In fourteen days. D) In two days

(A8 aial

8. A) The man shouldn’t have any more peppery food.
B) There 1s no more pepper left in the lottle
C) She wnll pass him the pepper “bottle.
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D) She also likes pepper powder." R, o R (R S ey e
9. A) She is willing to help. . B Lo

B) She is a stranger here too.

C) She doesn’t want to tell him how to be there.

D) She is not happy today.

10. A) Dining room. B) Kitchen. * .
C) Market. C) Department store. : v
Section B

Directions: In this section, you will hear 3 short passages. At the end of each passage, you
will hear'some questions. Both the passage and the questions will be spoken only once.” After
you hear a question, you must choose the best answer from the four choices marked A), B), C)
and D). Then mark the corresponiding letter on the Answer Sheet with a single line through' the'
centre, ] ,

Questions 11 to 13 are based on the passage you have just heard.

11. A) They were poorly educated. ; B) They were well educated. aainbis
C) They couldnt read and write. D) They could only write their own na;mes':
12. A) Floor. | ‘B) A piece of burnt wood.
" 0 A piece of paper. D) The door of the house.
13. A) The bread baked by the baker, B) The medicine prescribed by the doctor.
" C) A piece of burnt wood. ‘ D) The magic of the words.

Questions 14 to 16 are based on the passage you have just heard.

14. A) About 300 years ago. » B) About 400 years ago.

" C) About 200 years ago. D) About 500 years ago.

15. A) America. B) India. '

f " C) Spain, ' D) Rough sea.

16. A) Three. - ‘ B) Four. . s
' C) Thirteen. ' ‘ D) Fourteen.

Questions 17 to 20 are based om the passage you have just heard,

17 A) They live together for a lono time.
B) They llve m families of females
C) They never forget great sadness or great happmess .
D) They have daughters mothers and grandmothers |
18 A) The others never move away from it. :
B) The others eat the dead body.



